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#include <stdio.h>

int main( ) {

int array [8] = {35,15,85,55,75,45,65,25};

int temp;

for(int i=0; i<=7; i++)

{ for(int j=0; j<7; j++)
{if(array[j]>array[j+1])
{ temp=arrayl[j];

arraylj]=array[j+1];
array[j+1]=temp; } } }
for(int j=0; j<8; j++)

{ printf("array[%d]=%d\n", j,arrayljl); } }
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14. 3R89 quicksort M kA 6 R IE, 3 AT 742 X AB IR B R 0A B oHDIE A #16i842, T
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#include <stdio.h>
#include <stdlib.h>
void quicksort(int *data, int left, int right);
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int main(void)
{ int i, n=10, data[10]= {26, 96, 86, 56, 76, 45, 65, 36, 5, 16};
quicksort(data, 0, n - 1);
printf("\n result: ");
for (i = 0; 1 <n; i+H)
{ printf("%d ", datalil]); }
printf("\n");
system("pause" ); }
void quicksort(int *data, int left, int right)
{ int pivot, 1, j;
if (left >= right) { return; }
pivot = data[left];
2999999

while (1) {
while ¢ 2 )
if ¢ 7 )
{ break; }
2999999 }

.......

while ( 7 ) {
if (2?2 )
{ break; }
299999797}

if (2 ) { break; }
swap( 7 ); '}

swap( 7 );
quicksort( ? );

{

quicksort( ? ); }
void swap(int *a, int *b)
{ int temp = *a;
*a = *b;
Xb = temp; }
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